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Aptitude & Mental Ability

Tnpsc Previous Questions With Answers

1. Paulson spends 75% of his income. His income is increased by 20% and he increased his
expenditures by 10%. Find the Percentage increase in his savings.

(A) 27%
(B) 50%
(C) 30%
(D) 28%
Answer: (B) 50%

LITGLEEST  6T60TLIUT  SlQUTGH 6U(BLOMETHSIL 75% ClFeve | QFWISMeoT.
SI6U6TTH| U(BHLOMETILD 20% HSSHSESILBHDGI. H6U6T H6ug ClFevemey
10% SIH&RSAMeT cTeNeL Seueng GHBAILNCD G 6N aN(PsaETH
AGSRSSDSI?

(A) 27%

(B) 50%

(C) 30%

(D) 28%

allenl_: (B)50%

2. What is the Simple interest earned on Rs. 20,000 invested 3 month at a rate of 5% per
annum?

(A) Rs. 250/-

(B) Rs. 100/-

(C) Rs. 125/-

(D) Rs. 500/-

Answer: (A) Rs. 250/-

elh. 20,000 @& 5% HOI(H Ll ly IHHHEL 3 LMHRISEHSHSG H6oll 6L lg
WITG)?

(A) €Ip. 250/-
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(B) €I 100/-
(C) €I 125/-
(D) €Ip. 500/-

el6mL_: (A) €. 250/-

3. X*+x* - 7x - 3is divided by x — 3 then the value if remainder is

(A) 16

(B) 14

(C) 12

(D) 13

Answer: (C) 12

X+ x* - 7x - 3 6IOILGHEMETT x - 3 6L QUGEHGL CUTH HOLSGLD
B&uNest LD

(A) 16

(B) 14

(C) 12

(D) 13

adlemL_: (C) 12

4. What percentage of numbers from 1 to 50 have 0 or 5 in the unit’s digit?
(A) 5%

(B) 10%

(C) 15%

(D) 20%

Answer: (D) 20%

1 (PHL 50 6UM 2 61161 6T6H0&HEN60 €R60TMMD QEVEHHHEL 0 3I6LEVG)
5 2 616N 6T6U0ISH6M6T FHOIHLD UITG)?

(A) 5%

(B) 10%

(C) 15%
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(D) 20%

eleénL_: (D) 20%

5. Find the HCF of 2 8 oand 2

9' 81 27
80
(A) 5
2
(B) &
1
© 5
3
(D) o5
] 2
Answer: (B) -
8. QuI. 6 &TETuTS =, 2 = and -
80
(A) 5
2
(B) &
1
(O vy
3
(D) o5
afleml: (B)—
6. Inatwo digit number, the sum of digits is 11. If the digits are reversed then the new number
is 9 less than the given number. The given number is
(A) 47
(B) 29
(©) 74
(D) 65
Answer: (D) 65
@M Q@ Q6055 el  @EVESMIGHTGT Fa(hHL 11. HG
sTeuoremeunl  @L oMM QWD  Curg HeLsGWD YHul  eTeur,
QBM(HSSLLL L. eT6ioTensnl L. 9 GH60meY 616060 QST(HSSLILL L. 6T6v01
WIm&)?
(A) 47
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(B) 29

(©) 74

(D) 65

elémL_: (D) 65

7. A man earns Rs. 20 on the first day and spends Rs. 15 on the next day. He again earns Rs. 20

on the 3" day and spends Rs. 15 on the fourth day. If he continues to save like this, how soon
will he have Rs. 60 in hand?

(A) On 17" day

(B) On 22" day

(C) On 30" day

(D) On 40" day

Answer: (A) On 17" day

@(h LeNGHeT (LPGHL Bmafled ¢l 20 FLUMSHSHH ABHEHS BI6T €h. 15
Qgevey QEWAMDTY. BB eI BT €hH. 20 FLOUTHSS)
BT6OTHMLD [BIem €h. 15 GQFeuall(hHMMy. QeueurCm oeuj CHLhllienus
QHTLFHMM 6T61l6D €H. 60 6TeueUene] FEHETD eUTH MEUTED
A(H&@GLD?

(A) 17%8 pmeflev

(B) 22%¢ prerfev

(C) 30%¢ mmerfev

(D) 408 pmerflev

ellemL: (A) 178 pmeflev

8. Angles of a triangle are in the ratio 1 : 2 : 3 then the triangle is

(A) Equilateral Triangle

(B) Isosceles Triangle

(C) Right Angle Triangle

(D) Isosceles Right Angled Triangle

Answer: (C) Right Angle Triangle
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@@ (P&ECHMGHET CHTEIMIGT 1 @ 2 : 3 660D NEGHGHH6L

@@L S (LPECHTEID 6TeUeUMNS (LD SHCHTETuILD?

(A) §L0USE (LPSCHITEOILD

(B) Q(H&LLUSES (P SCHTEUITLD

(C) QERICSHT6TT (LPSHCHTEUUILD

(D) @(H5L0USHS QFRICEHTET (LPECHTEIUILD

adlenL: (C) QFRICHT6TT (LPSHCHT6UuILD

9. In a family, the father took i of the cake, and he had 3 times as much as each the other
members had. The total number of family members is

(A)3

(B)7

(C) 10

(D) 12

Answer: (C) 10

1

@® GhLuUSHeL ssuuey, . UTeD Gas sTUNESDTT.  Goum)
GGLU 2 mufergseneTl GUTEL eETM LWLKIEG S QUMK
¢TevlleL G(HLOU 2 miLTNenIseaflest CILDTSHS 6T6UUI6UNSHMS WIMS|?

(A)3

(B)7

(C) 10

(D) 12

allemL_: (C) 10

10. A Rectangular courtyard 3.78 meters long and 5.25 metre wide is to be paved exactly with
square tiles, all of the same size. What is the largest size of the tile which could be used for
the purpose?

(A) 14 cms
(B) 21 cms
(C) 42 cms
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(D) None of these
Answer: (B) 21 cms

3.78 BLLG&eT Hempd 525 W Siseupd 2 6oLl @ LFSTIL Gy
slemeyeiten  Filwimenr &I B HMaEGSMeu(E LyLuiUL.  Geusior(hLb.
SIHCHTHHSHMSTS 2 LCWTSLILGLSHSFalgU 6L lg6T  LOSLCUIFIWIT
SI61T6) 6T60T60T?

(A) 14 Q& .15

(B) 21 Q& .15

(C) 42 Q& .8

(D) QemeausafleL epetTMLOIGLEMEL
aflemlL: (B) 21 Q&.L5

11. A sector of 120°, cut out from a circle, has an area of 9 % sg.cm. Find the radius of the circle

(A)1lcm

(B) 2cm

(C)4cm

(D) 3cm

Answer: (D) 3 cm

@G QULLSHO(BHE QeulgQuiBGSsIULL 120° 2 66T €(h QULL & Fam),
3 . . . . . .

9o - &gy Q. . UJUUeTeY 2 L UWIF. QUL SH6T SLTHMS SHT6Tuls.

(A) 1Q&.L8

(B) 2 Q&.L6

(C) 4 Q&6

(D) 3Q&.10

ellenL: (D)3 Q&.10

12. A lawn is in the form of a rectangle having its sides in the ration 2 : 3. The area of the lawn is
%hectares. Find the length of the lawn.

(A) 40 m
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(B)33%m

(C)50m

(D) 45 m

Answer: (C) 50 m

@(h LeLGleueil enLDGTEID G LUSSHMIGET 2 : 3 HHHSHeL 2 6mem €(h
QFeleus 6UQaNeL 2 6T6Mg. SihHG MDSGTTSHS 6 LIFLIL %Qa_rr)éﬂ_l'] 6T60T160,
SIG60T BOTHNG SHT6H015.

(A) 40 LS

(B) 33 % LB

(C) 50 LS

(D) 45 LS

eflemL_: (C) 50 LS

13. By selling 33 meters of cloth, one gains the selling price of 11 meters. Find the gain percent.

(A) 25%

(B) 30%

(C) 35%

(D) 50%

Answer: (D) 50%

@@meuf 33 WBLLY gswenw eNmuger ewpeold 11 WBLL (h&sMesr eNmLsneo
allemevent  @Qeomusll CUMISMTT, 6Teslled eursl eoml  N(PSSBTL ML
&6uu1(HLlg.?

(A) 25%

(B) 30%

(C) 35%

(D) 50%

alleml_: (D) 50%

14. Find the least number which when divided by 6, 7, 8, 9 and 12 leaves the same remainder 1 in each
case

(A) 504
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(B) 505

(C) 253

(D) 167

Answer: 505

6, 7. 8 9 LOMOMILD 12 6T6M ETTUSHATTEL UGSSHSLULERLD CUMLDG €p6uClaUT(H
UMSSGLD S 1 eupld LOGE Sl 6T6I0TeM6T0S ST6I0TS
(A) 504

(B) 505

(C) 253

(D) 167

eNlemL_: (B) 505

15. The Traffic Lights at three different road crossings change after every 48 sec, 72 sec and 108 sec
especially. If they all changes simultaneously at 8 : 20 : 00 hours, then at what time will they again
change simultaneously?

(A)8:20:48hrs

(B)8:21:12hrs

(C)8:21:48hrs

(D) 8:27:12hrs

Answer: (D) 8:27: 12 hrs

CuTEGaINSg FOGEHME alaibGaen  cpeTm  CeucuGalm  FTemend
ghSHLGHeied (PmMMGCII epelCleum(p 48 eM6umiq&eT, 72 6M6uTiq&6T LDMHMILD
108 NBMa&HEH&HGSL 6T LOMTMISMEI. Sl 6T6L6LMGLD 8 : 20 : 00 LDEUITISH6ETIEL
@Cr CursHed wMMermed, WanBh UCUTEH Simer @Gy ChygHev
LOMMLD?

(A) 8 : 20 : 48 LD6TUTIS 61T

(B) 8: 21 : 12 LD6BON &6

(C) 8: 21 : 48 LD6BON & 61T

(D) 8 : 27 : 12 LD6TUN & 61T

edlemL_: (D) 8 : 27 : 12 LD6TOT &6

16. Find the missing number 5, 4, 8, 9, 11, 14, 14,
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(A) 19

(B) 17

(C) 21

(D) 16

Answer: (A) 19

(PLILL 6T600T6060018 &HT600I& 5, 4,8, 9,11,14,14,
(A) 19

(B) 17

(C) 21

(D) 16

eNlenL_: (A) 19

17. If x + % = 5 than the value of x° + x% is
(A) 90

(B) 110

(C) 120

(D) 80

Answer: (B) 110

x += =5 616160 x* + — UGS DG WITG)?
(A) 90

(B) 110

(C) 120

(D) 80

eflenl_: (B) 110

18. If V2116 = 46 then value of V21.16 + V0.2116 + ~0.002116
(A) 5.106

(B) 5.116

(C) 5.122

(D) 5.221

Answer: (A) 5.106
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V2116 = 46 61631160 V21.16 +V0.2116 +V0.002116 - ufledr LO&ILILY

(A) 5.106
(B) 5.116
(C) 5.122
(D) 5.221

eflemL: (A) 5.106

19. A can do a certain job in 12 days. B is 60% more effective than A. How many days does B
alone take to do the same job?

(A) 8 days

(B) 7 days

(C) 7~ days

(D) 8 days

Answer: (C) 7 % days

A eTeoTLe] ¢(h Geuemevemwd 12 BILSeM6L GFWIKMITT. B 6T6oTLOU]T A
oW el 60% SIH& HmenwuwjenLwiel]. HCH Geusmevemnuwl B L (HLD
WG5S 615HM6 BHTL&6T 6T(HHHIS CSHTerTeuy?

(A) 8 HITL_G6IT

(B) 7 BITL_&6IT

(C) 7 BTL&6T

(D) 8 HTL_&eiT

efenL: (C) 7 BIL&6H

20. Y729 - Y27 =7

(A)9

(B)7

(C)6

(D) 11

Answer: (C) 6
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V729 -327 =2
(A) 9

(B) 7

(C) 6

(D) 11
elémL_: (C)6

21. The least number of complete years in which a sum of money put out at 20% compound
interest will be more than doubled is

(A)3

(B) 4

(©)5

(D) 6

Answer: (B) 4

20% Gal(h eullgp eNfHHHL meusBHUULL (I CFHTMS
AGLLAGSS Ced gLeusMHE WEHM (LD W[ SET?

(A)3

(B) 4

(©)5

(D)6

edlemL_: (B) 4

22. Leela reads i‘h of a book in 1 hour. How much of the book will she read in 3% hours?
(A Z Part

(B) g Part

© g Part

(D) Whole Book

Answer: (B) % Part
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GOIT GTGITLIGT &(h 1_155535@66'1& uG@eow I et CrusHed LIS (LpLgLILITT 6Teslled LFS5SF 6o
CTRIRUGTGY LIGBenw 3% wewsfl GBrrg@ed Litg LiLimg?

(A) UGS
(B) ;LGS
©) 2 UGS
(D) USS5LD (L (LHeugILD
allenL: (B) UGS

b

23. If%zzzgthen

a+b+c

is equal to

(A) 7
(B) 2

©);
(D)

Answer: (B) 2

a_b _ a+b+c

<= = 6Teufled

3 4

) BLSETL_upPled 615D @ FLOLD.

G

edlemL: (B) 2

24. If V7 — 1 + V7 + 1 =a + b\7 find the values of a and b
V7+1 N7-1

(A)a=0,b=8/3

(B)a=5/3,b=0
(C)a=8/3,b=0
(D)a=0,b=5/3
Answer: (C)a=8/3,b=0
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V7-1+V7+1=a+bv7 6T60NI6L a LOMMID b-UT6dT LOGIIL|SHENET SHT6T0I.
V7+1 Vv7-1
(A)a=0,b=8/3

(B)a=5/3,b=0
(C)a=8/3,b=0
(D)a=0,b=5/3

eémL: (C)a=8/3,b=0

25. 2+ 3+ then the value of x is

|

[

2+
1
3+ —

1+Z

[

(A) 1/7
(B) 3/7
€)1
(D) 8/7
Answer: (C) 1
2+#6‘[6‘0ﬂ6i) X @60 LG ST6TuIs

1

(A) 117

(B) 3/7

€)1

(D) 8/7
edlemL: (C)1

11, 16, 24, 35, 49, ?
(A) 62
(B) 63
(C) 64
(D) 66
Answer: (D) 66
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11, 16, 24, 35, 49, ?
(A) 62

(B) 63

(C) 64

(D) 66

ellemL: (D) 66

26. The number of horses on a farm is twice the number of ducks. The total number of feet of
ducks and horses counted together is 70. The number of ducks is

(A)S

(B)7

(C) 14

(D) 35

Answer: (B) 7

€2(Ih LI6uoleneuuleL 2 616 G Slemy&erlest 6T6ouI6u0N&H6ma 6UITS &S 6rTl6oT
6T6uOI6uTN SemGBemILIL GUITeL @\(H LOLMIG. euMdG WOMID &Hengdhetest
QLOITHG LMHHIGEMET 6T6U0T6TUTI60NTED 70. 6UITESHISHETI60N 6T65u1600T15H6M 8
6T60T60T?

(A)5

(B)7

(C) 14

(D) 35

edlemL: (B) 7

27. At present Abi is twice as old as Reeta. After seven years their age difference is 5 years. The
present age of Reeta is

(A)5
(B)7
©)9
(D) 10
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Answer: (A) 5

QeiTm S NuN6dT euwF FLLTON6HT euleng CUTL Q@ LLMKIEG. 7
QU(HLRISEH&HE LN6OT6vl] SieUTSHellesT el NGWITFLD 5, 6TeufleL
FLLmeer @6iTemmul 6UWIG| 6T60T60T?

(A) 5

(B)7

©?9

(D) 10

elenl_: (A)5

28. Which of these numbers does not remain the same when turned upside down?

(A) 689

(B) 66166

(C) 98186

(D) 981186

Answer: (B) 66166

SCLp HMEMID 6TOMGATN6L 618 HMLSLTSH S(HLLN UTHSSHTEYILD
LOMMTE SHET6MLD @6LEVITE 6165017

(A) 689

(B) 66166

(C) 98186

(D) 981186

edlemL_: (B) 66166

29. If 21% is divided by 8% the answer is

1639
(A =5

1639
(B)—

1693
©
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149

(D) 5

Answer: (B) %

212 6T60TLIENS 8— 2p6L QUGSSSHTL HemLLILG|

1639
( ) 633

1639
( ) 623

1693
©)

149

(D) 4

alenL: (B) =2

623
30.Ifa:bis2:3,b:cis4:3andc:dis2:5thena:dis
(A) 18 : 45
(B) 16 : 45
(C) 8:45
(D) 16: 18
Answer: (B) 16 : 45
a:b6TeOTLIG 2 : 3, b : c 6T6OTLIG) 4 : 3 LOMMLD ¢ : d 6TEOTLIG) 2 : 5 6T6vTl6L a : d
6T60TLIGH 60T LOGILIL| WIM&?

(A) 18 : 45
(B) 16 : 45
(C) 8:45
(D) 16: 18
edlemL_: (B) 16 : 45

31. Traffic lights at three diferent junctions change simultaneously at morning 8.00 am. The first
light changes once in 30 seconds, the second once in 72 seconds, the third once in 45
seconds. After 8.00 am which is the next time they change simultaneously?

(A) 8.03 AM
(B) 8.06 AM
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(C) 8.10 AM

(D) 8.12 AM

Answer: (B) 8.06 AM

WeuGeuml Fmemev FHSIILSGeN6L 2 6Mem FTemeL UGSMLL eN6NSHE &6
SMen6v 8.00 LO6WNGG 6CT CHIHHEL LOTMHMLOEMHL HI6OTMET. CLAGHIMITLD
WeooGul 30 eNBMe&E @G (W, 45 AbMGsEE @O LMD
LTMIS6Tmer. 8.00 (L. Ney WGuGL @uepsiimid eLAUT(PSI Gl
WSSO DTMID?

(A) 8.03 (LpLI

(B) 8.06 (LpLI

(C) 8.10 (LpUI

(D) 8.12 (LpU

edlemL_: (B) 8.06 AM

32. A sum of money triples itself at simple interest 8% per annum over a certain time. Find the
number of years.

(A) 8 years

(B) 15 years

(C) 23 years

(D) 25 years

Answer: (D) 25 years

@@ GMUILL QFHTEm&SIITETS 615H5H6m68 6U(HLMISHT 8% &eufleul lg
Qi GHHL 6N WLMISTE HHSH&HGLD?

(A) 8 eU(IHL_RIG6N

(B) 15 6U(IHL_RIG6IT

(C) 23 6U(IHL_RIG6IT

(D) 25 6)(HL_RIG6IT
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ML (D) 25 6U(IhHLRIG6IT

33. The Percentage of literacy in a village is 49%. Find the number of illiterates in the village, if
the population is 7600

(A) 3876

(B) 3724

(C) 3742

(D) 3867

Answer: (A) 3876

@(h HNMDGHHL 2 616 COTHS LDSHSHET CGHTEMS 7600. HH6L &L
siMe] QUOMMEUTSHET 49% ¢eTelleL  &evadl SiMle  CUMTHeUTSHeTesT
6T6UUIGTUTIH6M S LIS ?

(A) 3876

(B) 3724

(C) 3742

(D) 3867

edlemL_: (A) 3876

34. Calculate the radius of a sector whose area and arc length are 60 cm? and 20 cm respectively
(A) 3cm

(B) 6 cm

(C)4cm

(D) 5¢cm

Answer: (B) 6 cm

@, ULL&CEHTe uGHuler LUy 60 Q&8 2 G601 eTleLEdI6HT
e 20 Q&8 eTeafl6L QYLD SHM6TOTS.

(A) 3Q&.L5
(B) 6 Q& .10
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(C) 4 Q&.L8
(D) 5 Q& .5

Answer: (B) 6 Q&L

35. If an investor wants to receive Rs. 10,000 as simple interest every month and rate of interest
is 8% per annum then the amount he should invest is

(A) Rs. 25 lakhs

(B) Rs. 20 lakhs

(C) Rs. 15 lakhs

(D) Rs. 8 lakhs

Answer: (C) Rs. 15 lakhs

@M WHOLLTeT] Hf wrehd el elllquimd ¢h. 10,000 QUMD
aNGLUSDTT. eullgy eBHn YEIHhsSE 8% 61l euf WHO®
Qauww Geuevrig Ul C&Tend 616516017

(A) €. 25 UL_&LD

(B) €Mh. 20 6UL_&LD

(C) €. 15 6VL_&LD

(D) €Ih. 8 UL_&LD

elemL: (C) €lp. 15 6VL_&LD

36. If interest is compounded every six months a principal of Rs. 8,000 at 10% rate of interest
will amount to at the end of 18 months.

(A) Rs. 9,000
(B) Rs. 9,156
(C) Rs. 9,261
(D) Rs. 9,282
Answer: (C) Rs. 9,261
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Sln] POI(HES (b (WPMMD QI ly SIFIL 60T CFIHSLILLLT6L (I
8,000 &@& ooty Ul lg B 10% eiHlulg, 18 LISRSEHHG L6
QP &0l G5 ABTmS

(A) €Ib. 9,000

(B) €Ip. 9,156
(C) erp. 9,261
(D) €1p. 9,282

ellemL_: (C) €Ip. 9,261

37. First pipe can fill a tank in 30 minutes. Second pipe can fill the same tank in 60 minutes. A
third pipe can empty the same tank if it is full in 45 minutes. If the tank is empty and all three
pipes are open in how many minutes will the tank fill?

(A) 30

(B) 36

(C) 42

(D) 50

Answer: (B) 36

WL  GmMl @@  OsTLigenw 30 BOILRsafled  HIFLLLwW.
@neuiLmeugd GWMl 16s QsMlgemnwl Hyiu 60 HOLLD GLD.
cpsimmeud Gml Hyuw Qsmligenwl &medl GFuww 45 HIOILLD
SGW. QBT STOWTES QBHEH QLDEPTM GLMUSEHD G
FOWSHL Smhg NLLUULL ML, SHCHTLIg 61HGHene6n HILOILMiGHaTleL
HyULD?

(A) 30

(B) 36

(C) 42

(D) 50

adlemL_: (B) 36
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38. The Binary number 1011 is equivalent to the decimal number

(A) 10

(B) 11

(C) 12

(D) 13

Answer: (B) 11

1011 6T60TM @ (HWE GSMUIL (D 6T6voT6mNMEG D6METIUITEI SFLD 616501
(A) 10

(B) 11

(C) 12

(D) 13

alemL_: (B) 11

39. A, B together do a job in 6 days, B, C together do the same job in 10 days, C, A together do

the same job in 7% days. If all three work together in how many days will they complete the
job?

(A) 5 days

(B)4%days

(C) 4 days

(D) 3 days

Answer: (A) 5 days

AB S8 Q@eu(pd @ Geoumevenil 6 BHIL&GeMN6L CFIG (Ll LILI].
B, C & @QmeumlL ICH Geausmevenit 10 BIL&eNed ClFIS)
Wiy, ¢, A S Qeupld Ceihg oihG Ceusmevsmil 7%
BTL&6afle0L CEIg (WlgLILf eTeofled cpeu@bld CEIHEH SeUCeUmeVemIL
615 &6m60T BHITL&erleL GFUIG (LPIgLILIT?

(A) 5 HITL_G6IT

(B) 4 BTL&6T
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(C) 4 BITL_&e61

(D) 3 IBITL_G6IT

e6mL_: (A) 5 HITL_&6I

40. Find the average (mean) of ‘n’ natural numbers from 1 to n
(A

(B)"

€=

n+1

(D) =

Answer: (D) =

1 (&6L n eUEMIT6NTON ‘0 QUIEL 6T6B0IS6M60T Fal () FIMEIS
(A) >

(B) ==

€)=

n+1

(D) —-

n+1
2

adlemL_: (D)

41. 400 square metres have to be painted. 1 litre of paint A costs Rs. 150 and can be used to paint
4 sq.m. 1 litre of paint B costs Rs. 200 and can paint 6 sg.m. least cost of painting 400 sq.m.
is

(A) Rs. 10,000
(B) Rs. 12,500
(C) Rs. 15,000
(D) Rs. 16,250
Answer: (B) Rs. 12,500
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400 g7 WBLLJ ugluene] eujewid LLF CelctgU|eTergl. A 6UDs
QuUUIGTL. AL (&G 150 ehUMil; 1 AL Q&meul 4 &&IJ LBLLI
LLF6OMD. B elemd GUUiledT. 6OILLJ 200 €hHUMLL; OILL (h&G 6 &F&IN
WBLLY W&eomd. C 6uend QUUNGTL 60 LIJ ehUMl 250; 0L (h&@E 8
ggy WLLY Ugeombd. D& @GomDhe eNeneouled 400 &g L Leny
QUJEIUID L& LG ClFevea)

(A) €. 10,000

(B) €Ip. 12,500

(C) €. 15,000

(D) €. 16,250

ellemL_: (B) €Ip. 12,500

42. What is next?

K428, $1+*F F + NG, $IHPE
(A) $! 2+ >

(B) $71+*

(C) *17+ $

(D) * 21+$

Answer: (D) * ?21+$

SIBGHGH UHeUG) 6T6dT60T?
KI142$, $21+ *F F 4+ NG, $IHPE
(A) $! 7+~

(B) $71+ *

(C) *17+ $

(D) * 21+$

alemL_: (D) * 21+$
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43. If the distance from A to B is 600 km and Akbar goes from A to B at a speed 40 km per hour
and returns from B to A at a speed of 60 km per hour the overall average speed is

(A) 45 km per hour

(B) 48 km per hour

(C) 50 km per hour

(D) 52 km per hour

Answer: (B) 48 km per hour

A 6160Tm QL SHDL @Q@HEH B 600 .S HIIHHEL 2 6M6eng. HSUT A
UNeON(pHE B 6TMID QLHHMS WeINSHG 40 S CousdHeyid, B
UNOBHE A @b QLHHADHG WaNsEG 60 &  CoussHeid
Q&6oTMTeL, FIM&Sl GeuUsHLD 6T60T60T?

(A) 45 &.18./ 6w CBLD

(B) 48 &\.18./ et GHyLd

(C)50 &8/ 6wt GHIFLD

(D) &.L5./ 6o CBLD

elenlL_: (B) 48 &.L8./ LoewtN GBILD

44. Find the GCD of 15x%y°2°, 12x%y'7?
(A) 170x%y'7°

(B) 3x%y°7

(C) 3xYy'7°

(D) 170x%y*Z2

Answer: (B) 3x%y°z?

BUAL@, QU euGSHH SMens: 15x'y°2, 12x%y'7
(A) 170x%y'7°

(B) 3x%y*72

(C) 3xYy'7°
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(D) 170x%y*7?

elenL: (B) 3xy°7

45, (x - y) (* + xy + y°) is equal to

(A) X+ y°

(B) X+’

(C) x*-y*

(D) Xy’

Answer: (D) x*- y*

(X-y) (X + xy + y°) 6T6OTLIG63T LOKILIL| SIT6T01S.
(A) X+ y?

(B) x*+y?

(C) -y

(D) x>y’

ellenL: (D)x>-y?

46. 1f 18 men can do a work in 20 days, then 24 men can do this work in
(A) 20 days

(B) 25 days

(C) 21 days

(D) 15 days

Answer: (D) 15 days

18 O6ANGHIGH6NT (I GCeusmevsm 20 BITLGerMeL (LPlgLil]. G
Geusmevenil 24 OGBSO (LPlg&Hs Cl&EmeUUIT6nT [HITL S6l

(A) 20 [BHITL_&6IT
(B) 25 BITL_&6IT
(C) 21 BITL_&6IT

(D) 15 [HITL_&61T
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el6mL_: (D) 15 [HITL_&6IT

47. A Cone, a Hemisphere and Cylinder have equal bases. If the heights of the cone and the
cylinder are equal and equal to their common radius, then find the ratio of their respective
volumes.

(A)1:3:2

(B)3:2:1

C©)1:2:3

(D)3:1:2

Answer: (C)1:2:3

@R Faldl, @G AOISCHTEND MMID € 2 (HeMeT HYHUIET &FLD
S UUyuenestd  Q&meioi(henenmes. FalDLIledT 2 WD, 2 (Hemermuiles
2 WISHHEG &wrsead, G @eueuind Heunilear HrsHHS
FLOWLMHWLD @QBHSHTL (PG @IDELPETTMI6TT &6 H6NT6YSHEBSHG
QL Gl 2 6Tem QNKHLD WITG)?

(A)1:3:2

B)3:2:1

(C)1:2:3

(D)3:1:2

el (C)1:2:3

48. Find the missing term:

17,19, 23, 29, ?, 37

(A) 31

(B) 33

(C) 35

(D) 36

Answer: (A) 31

N(BULL. 6T600T6060018 SIT60015:

17,19, 23, 29, ?, 37
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(A) 31
(B) 33
(C) 35
(D) 36
edleml_: (A) 31

5x + 20
7x + 28

49. Simplify:
(A) 2
(B):
©):
(D)<

Answer: (B) g

H (&GS
(A) 2

(B)2

©):

(D)2

aflemL: (B)Z

50. If f: A > B is a bijective function and if n(A) = 5, then n(B) is equal to
(A) 10

(B)4

(C)5

(D) 25

Answer: (C) 5

f:A>B@@m @@UDSF &mjy WmmILD n(A) =5, n(B) =?
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(A) 10

(B)4

(C)5

(D) 25

ellenL: (C)5

51. Slope of a atraight line parallel to “Y” axis is

(A)0

(B)1

(C) oo

(D) -1

Answer: (C)

“V* NF&HHG Qeneuunimest CHISCHITLIg60T FMUI6Y?
(A)0

(B)1

(C) o

(D) -1

ellémL: (C)

52. Find The number that must be subtracted from each term of ratio 27 : 43 to make it 7 : 15
(A) 17

(B) 20

(C) 27

(D) 13

Answer: (D) 13

27 : 43 ¢teoim ONHHHHON(HHGLD 2 MILILSENONBHS 6THS 6TEHUT60)6001
SL&HE 7 : 15 e1OIHTN NKHD HeML SHGLD

(A) 17

(B) 20
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(C) 27

(D) 13

edlemL: (D) 13

53. The Compound interest on Rs. 8,000 at 5% p.a. for 3 years is
(A) Rs. 1251

(B) Rs. 1871

(C) Rs. 1361

(D) Rs. 1261

Answer: (D) Rs. 1261

gal (b elllg (psmmuiled em. 8,000, 3 SYew(h&efled 5% eU(hL el lg
aiBlLg LGS Ul lg UITHI?

(A) €. 1251
(B) €M 1871
(C) €. 1361
(D) €. 1261
edlemL_: (D) Rs. 1261

54. If the of function is a Singleton set, then it is
(A) A Constant Function

(B) An Identity Function

(C) A Bijective Function

(D) An One — one Function

Answer: (A) A Constant Function

@@ FMyeT ef§FFsd cp(BMILILIS HEWILDTEITE, UG €2(h
(A) LTMINEF &mijy

(B) &LO6ONE &ML
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(C) @@wUDE &mjy

(D) ROTMISES EREMMTET SFTIL

elleml_: (A) LMMIeNE &mijy

55. A Solid having six equal square faces is called a
(A) Cube

(B) Cuboid

(C) Square

(D) Rectangle

Answer: (A) Cube

QLM FOFFHNHIGMET (LPSRIGETTHS CISHTEIL. 2 (hHeULD
(A) SHESIFHILD

(B) SH6TCIF6UAISHLD

(C) EHINLD

(D) QF6UISLD

QllemL_: (A) SHEOIFHILD

56.1fp, g, r, s, tare in A.P. then the value of p —4q + 6r —4s +tis
(A) 1

(B) 2

()3

(D)o

Answer: (D) 0

P, 1, S, t erairien g B Qs suflensuied @) @Litderp — 4G + 6r — 4s + t = 6T60TLIG 63T
LO&ILIL

(A1

(B) 2
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(c) 3

(D)o

eléml_: (D)0

57. In how many years will a sum of money doubles itself at 8% SI per annum?
(A) 12 % years

(B) 13 % years

(C) 14 years

(D) 15 years

Answer: (A) 12 % years

@@ CFHTms 8% Yau(d GHevleullg (WemMUulled @I IqlILmg LT
615 & 6M60T o, 6B0T(H&H6IT Y, (&LD?

(A) 12 > S4BT &6T

(B) 13 > 601 (B 6T

(C) 14 o), 6001(H &1

(D) 15 &y, 6v01(h 61T

eNenL: (A) 12 - gp601(ha&6M

58. A book contains 120 pages. Each page has 30 lines. How many pages will the same matter of
the book contain if every pages has 25 lines?

(A) 175

(B) 150

(C) 164

(D) 144

Answer: (D) 144
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@6UC6UM(E USSHSHHVID 30 eUFlGH6T Q&M 6(h LUSHHHHH6 QLTSS
LUSSMIGET 120. SIGCH Q&S 6UC6UT([H USSHHVID 25 6UFSHETs
A®EHSMTL LSHHE5H5H60T QDMTHS LISHMISAT6 6T6360T5Hme WITS]|?

(A) 175

(B) 150

(C) 164

(D) 144

adlemL_: (D) 144

59. A man white washes 96 sg.m of a compound wall in 8 days. How many sq.m will be white
washed in 18 days?

(A) 216 sg.m

(B) 218 sq.m

(C) 198 sgq.m

(D) 220 sq.m

Answer: (A) 216 sg.m

€@, HUF 96 &8 ugluensned 8 HILS6afed GledeTenen Sllq&GMJ 6T6vileL
18 BTL&6M6L eTeuaU6NTE) LITLILIETEMEU GleU6TeneT Silq&Hs (LPlgU|LD?

(A) 216 &.10
(B) 218 &.L8
(C) 198 &.L8
(D) 220 &.18

ellenL: (A) 216 &.18

60. The mean of the 5 numbers is 32. If one of the numbers is excluded, then the mean is reduced
by 4. Find the excluded number

(A) 40
(B) 44
(C) 52
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62.

(D) 48
Answer: (D) 48

5 eT6uuIghelesT FOMEF 32. eUCleUGTIISHETEL E\(BHE €R60T6MM
$&@WLGUNg), FImEFlulled 4 GMMBHHTEL HHSLILILL  6TEHIT60I6T015
SIT6U015?

(A) 40

(B) 44

(C)52

(D) 48

edléml_: (D) 48

61. The Value of () -3 x 87°x 4°+ (116)'1’2 is

(A) 52

(B)5

(C) 6=

1

(D) 77

Answer: (A) 5§

(D)7 -3x 8 x4+ ()™ eT6TLGEN O WITG?

(A)53

(B) 5
(C) 6=

(D) 73

2
eflenL: (A)5:

A Sector containing an angle of 180°is cut off from a circle of radius 7 cm and folded into a
cone. Find the curved surface area of the cone (Take m = 22/7)
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(A) 77

(B) 22

(C) 88

(D) 66

Answer: (A) 77

7 Q&8 g ypeTen e eUL L G&l6dT 180° enLoWl CHTEWILD QST €2 (1
QLS Comamiu@Henwl  QeuliqgQuIGHE,  SHET Y IRIGEDET
RETMIMENHG €2(h FaldDLSHEETEL, HeOLHGLWD FaldDLT6 ecUemETLITLIEMLI
SIS (n = 22/7)

(A) 77

(B) 22

(C) 88

(D) 66

alemL_: (A) 77

63. The Sum of three numbers is 38. If the ratio of the first to the second is 1:2 and that of the
second to the third is 3:5 then the second number is

(A) 6

(B) 12

(C) 18

(D) 24

Answer: (B) 12

CL6OTM)| 6TEEITSHEN6TT Fa(BFHEL 38. (PGH6EL LOMMILD @GTUILITLD 6TEHI&HET 1:2
61601 QNHHHHEID 2 DMHMID 3 6UF 6TEOUHET 3:5 61601 NFIGHHHeVILD
ABHSTEL GIETIILMEUG) 616601 WITE|?

(A) 6

(B) 12

(C) 18

(D) 24

34 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

adlemL: (B) 12

64. How many terms of arithmetic series 6 + 13 +20+ 27 + ...... , be taken continuously so that
their sum is 375

(A) 8

(B) 12

(C) 10

(D) 13

Answer: (C) 10

6+13+20+27+ ... 6T60TMN Fal (hd QFHTLIfl6L QFHTLJFHUITS 61560601
2_MILLSENET Fal lg60TMTeL Fa(BFH6L 375 HlML SH@GLD.
(A)8

(B) 12

(©) 10

(D) 13

adlemL_: (C) 10

65. The sum of n terms of the series 8 + 88 + 88& + .... is

80, n
5[10 - 1]

8n
64

80

81[10 - 1]

() ¢10" - 11 - %

70, n
PR

: 80om - 17 - &
Answer: (B) 81[10 1] 5

8 + 88 + 888 + .. 61QILD QHMLIHlL (PFHEL ' 2 MILILS6N6T Fo(hGH6L
6T60T60T?

80, n 8n
(A) 5[10 -1 - ”

80, ~n 8
(B) 110" - 1] - =
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(©) 210" - 1 - =

(D) &I10" - 11 -

efleml: (B) 210" - 1] - =

66. The difference between the compound interest and simple interest on Rs. 4,000 at 5% per
annum for 2 years is

(A) Rs. 10

(B) Rs. 11

(C) Rs. 20

(D) Rs. 100

Answer: (A) Rs. 10

elh. 4000 - @G meior(H&H6efed 5% eu(hL UL g6 (Wemmulled

H6oN6UL 19 HGLW, Fal (B ULIGHGWL @QenL Gl 2 6en §WITFLD

(A) Rs. 10

(B) Rs. 11

(C) Rs. 20

(D) Rs. 100

edlemL_: (A) Rs. 10

67. If Ramya needs Rs. 9,00,000 after ten years, how much should she invest in a bank pays 20%
simple interest

(A) Rs. 2,00,000

(B) Rs. 3,00,000

(C) Rs. 4,00,000

(D) Rs. 5,00,000

Answer: (B) Rs. 3,00,000

UGS Qhetrgm@GL Um@ fuwmelimE b, 900,000 CHemeuliL(GHMS)

61637160 Q60T MG 20% &6ol QUL lg TGS eURISGUN6D, 6Tel6ETE)

3Fns FHS Geousu(Hd 2
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(A) €Ib. 2,00,000
(B) €. 3,00,000
(C) €. 4,00,000
(D) €1 5,00,000

eMlémL: (B) €rp. 3,00,000

68. Two boys can finish a work in 10 days when they work together. The first can do it alone in
15 days. Find in how many days will the second boy do it all by himself?

(A) 24 days

(B) 30 days

(C) 32 days

(D) 40 days

Answer: (B) 30 days

@neo(h Hmieugser GCeghg CFLUD CuTE @b Gealemevsnul 10
BTL&efed (WpILUJ. (WP&HeL &Smieuent SieuGalsmevenisd &eGul 15
BIL&eNed (PIHHTL, @QreoiLmbd Smieuest HelGl  euGaueLemLL
615 H6m60T HITL&GeleL CIFUIF (LDl LILIT?

(A) 24 [BITL_&6IT

(B) 30 [BITL_&6IT

(C) 32 BITL_&6IT

(D) 40 [BITL_&61T

elemL_: (B) 30 [HITL_G6IT

69. 1f 2x + 3y=13and y = S then the value of 8x* + 27y*is

(A) 693

(B) 793

(C) 893
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(D)0

Answer: (B) 793

2x +3y=131DMMID y = g 67601160 8x° + 27y° — 60T LO&ILIL]
(A) 693

(B) 793

(C) 893

(D)0

eléml_: (B) 793

70. The difference of the squares of two positive numbers is 84. The square of the highest
number is 25 times the smaller number. Find the numbers.

(A) 15, 12

(B) 4,10

(C) 11,8

(D) 16, 4

Answer: (B) 4, 10

@reoi(y LOlem&  eTenuiGemNenT  uUTHSMIGaT60T NGWITFLD 84, GQuflwl
6T6UOI G660 EUTSHSHLOMEoSH| FiMlul  eTeorsaflest 25 LOL MG &FLOLD 6T6vTleL
ShG 6TEUISHENENE &IT600IS.

(A) 15, 12

(B) 4, 10

(C) 11,8

(D) 16, 4

adlemL_: (B) 4, 10

71. The G.C.Dofxandy is z.

A7

(B

38 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

©) =

Z

(D) =2

zZ

Answer: (A) =

x MHMILD y @6t BLCL@G QUTE UGS z 6T6tiled Seummisit LFHM)
QU L RIS

A7
(B)5
©F

(D) =2

enemL: (A)~>

72. In a class of 45 students, 9 students were absent on a particular day. What percentage of the
students were present?

(A) 5%

(B) 20%

(C) 80%

(D) 10%

Answer: (C) 80%

Q@M GMUILL Breafled, 45 LOMEUUIEUTSHET 2 6o (h 6UGLULIIeL 9

LDIT600T6L ] & 61T 6U(H60 5 HI6e0L6m6V 6T60TI6L, UHMS  HHS

LOM6UOTEUTHEM60 F&H6NHEHMG &IT6U0185?

(A) 5%

(B) 20%

(C) 80%

(D) 10%

adlemL_: (C) 80%
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73.If the product of two number is 800 and their LCM is 200, then the HCF is
(A) 100

(B) 4

(C) 5

(D) 600

Answer: (B) 4

Q@ ms stanellest (UHSG CHTems 800 LOOMID SeUMMI6n LCM
200 61637160 HCF-60T LDGILIL] LWITE)?

(A) 100

(B) 4

(C) 5

(D) 600

allevL_: (B) 4

74. Simplify: V48 - 372 — v27 4+ 5V18
(A) V2 + 3

(B) V2 - V3

(C) V2 + V3

(D) None of these

Answer:

1. &(HSGS: V48 - 3V72 — V27 + 5V18
(A) V2 + V3

(B) V2 - V3
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(C) V2 + V3
(D) @eummien epeoTMILOICLEMEL
allemL: (D) eummien epeoTmILOICLEMEL

75. Which of the following is not the area of triangle ABC?

Z
|

1 .
> ab sin ¢

(B) % bh

(C) \/s(s—a)(s—b)(s— c)
(D) 2d (h + hy)
Answer: (D) ~d (hi + h;)

esTau(meueeuMMIeT 61& ABC (PSHCHTemuGSHletT LTLLSSTE  FGHLD
31606V?

Z
|

1 .
5 ab sin c

(B) % bh

(C) \/s(s—a)(s—b)(s—c)
(D) 30 (hy + hy)
aleénL: (D) %d (hy + hy)

76.1f A can do a work in 60 days and B in 20 days. If they work together they

complete the work in
(A) 10 days
(B) 15 days
(C) 20 days

(D) 17 days
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Answer: (B) 15 days

@@ Geuemevemil A eTeotLed] WL (KD 60 BHIL&eMgD, B  eT6oTLIoU]
LL@EWL 20 BILSaTeD GFWW  (WlgULomerme Qe  CEIha)
3l6UGaUmEVENIL CIFIILL 6T6UEIONTEY [HTL &6 Y, &LD?

(A) 10 IBITL_&6IT
(B) 15 [BHITL_G6IT
(C) 20 IBITL_&6I
(D) 17 IBITL_&6I
elemL: (B) 15 BITL&6I

77. A Fruit seller bought 10 boxes of grapes at Rs. 210 each. One box was damaged.

He sold the remaining boxes ar Rs. 250 each. Find the profit / loss percentage
(A) 7.14% Loss
(B) 10.14% Loss
(C) 7.14% Profit
(D) 10.14% Profit
Answer: (C) 7.14% Profit

@@ up elwmumfl 10 QuLly HFTLengsHemen (b GULIG €H. 210
B eUTRIGET]. L @ CuLly HTLams i(WPdH alGEHDG!.
B emen  QULIg&enem 6@ QUL LG €. 250 6T60IM  eN6M6LEHES
QNMEMI 6Teafled @evmu / UL FHIGHLD 6T60T6017

(A) 7.14% [HL_L LD
(B) 10.14% [HL_L_LD

(C) 7.14% @6OMLILD
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(D) 10.14% @6vIruLd
lenL: (C) 7.14% @6VILILD

78. The diference between compound interest and simple interest of Principal P, at r%

interest for 2 years is

Answer: (A) P(lﬁ)2

ST P &G % elllg eFLD 616a1mmeL, Qe o aIESEnSS Fal B
QL Ig&HGD 6ol UL IgSHGLD 2 6T6m GWITFLD

W P ()

79. LCM of two numbers is 150 and their HCF is 4. If one number is 50, then the

other number
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Answer: (D) 12

@@ ertusaflesT LCM 150 LOMMID HCF 4 ShGLD. 6L (b 6T6W1 50
61601160 LOMGIMIT(I, 6T600T

al6tL_: (D) 12

80. A Man wants to stitch a cover for a c.p.u whose length, breadth and height are
25 cm, 40 cm, 45 cm, respectively. Find the amount he has to pay if it costs Rs.

40 per sgq.m
(A) Rs. 27.40
(B) Rs. 26.70
(C) Rs. 22.60
(D) Rs. 25.30
Answer: (A) Rs. 27.40

(b6l [Hembd, Siseud LHMID 2 wpDd (WemmGWi2s Q& .5 sieTelemnLul
@@ cpu QMG 26mM MESHS NIHLUSMMY. 2 6mmuiled Qlenev 1
g0 L (56@ Ch. 40 61601160 SU(HSHG 6T6U6UETEY QFEVEUMGLD?

(A) €. 27.40
(B) €. 26.70
(C) €. 22.60

(D) €. 25.30
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l6mL_: (A) €h. 27.40

81. An article is marked 50% above the cost price upon the production price and a

discount of 40% is allowed. Then the gain or loss Percentage is
(A) 10% loss
(B) 12% loss
(C) 9% loss
(D) 8% gain
Answer: (A) 10% loss

@@ QuT@meT oiGeT 2 MUGHH ellemeoulled(BHEH 50% AHHSHLOTSH
almusnest  @SMSSLUUGEDG. CID  HL  40% 6Ll
SINNGHTEL SiU(HEG 60U / BHLL FHIHLD

(A) 10% [HLLLD
(B) 12% [HLLLD
(C) 9% BLLLD
(D) 8% 6VLITLILD
ellemL: (A) 10% BLL LD

82. A Man cycles at the rate of 15.6 kmph. How many metres does he cover in 2

minutes?
(A) 31.2 m
(B) 260 m
(C) 520 m
(D) 5200 m

Answer: (C) 520 m
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@meU] 156 &5 / W6INGG Cousg ey LNGleuctoguiled LWIeTN&SEMIMTI.
sleuy Qen(h HILOILMisefled eTeueuene] ST &L hS(HLILITYT?

(A) 31.2 IS
(B) 260 LS
(C) 520 LB
(D) 5200 LS
Answer: (C) 520 LS

83. The number of proper subsets of the set A = {a, e, i, o, u} are

Answer: (B) 31

A = {a, e, i, o, u} 61607160 &G 2L SH6U0TMRIGETI6 6T6TOT6T0NE 605

all6vL_: (B) 31

84.LCM of 2/5, 3/5 and 2 is
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Answer: (C) 6

2/5, 3/5 LOMMID % eT6oTLIUMMIET LCM

edlémL_: (C) 6

85.1 am a three digit number. Moreover | am a multiple of 10. When | am divided
by 6, | leave no remainder and if 4 is added to the quotient, 114 is obtained.

What is my Value?
(A) 220
(B) 440
(C) 550
(D) 660
Answer: (D) 660

bIT6dT 6p1] cLp6TMIeVSHS 6T6unr. GLOGVID 10 @60T LOLMRIE 3, G6U60T. 6T60T6M60T
6 9L QUGHE, BHUNGMNE HMLSGLD M L6l 4 M&EF CEIHHTEL,
114 SleMLSGLD, 6T6uTleL 6T60T&H| LOSHILICILIGHT60T?

(A) 220
(B) 440

(C) 550
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(D) 660

adlemL_: (D) 660

86. The length of the arc of a sector having central angle 90° and radius 7 cm is
(A) 22 cm

(B) 44 cm

(C) 11 cm

(D) 33 cm

Answer: (C) 11 cm

QILL WSS FHTRIGLD CHMEID 90° GH6T QYU 7 Q&L eTeflev,
QL e1eLedlst Herld

A) 22 Q&.L5

(B) 44 Q&.L5

) 11 Q&.lb

(D) 33 Q&6

elenL: (C) 11 Q&F.L5

87. If [xzz ;] + [le Z = [g ;L] then values of x are
(A) 2, 3
(B) 2, -3
(C) 3, -1
(D) -3, 1

Answer: (D) -3, 1

[xz 1]+ 2x 3

C O B33 Y aaied x s wdliusen sisis,
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(D) -3, 1
adlémL_: (D) -3, 1

88. A man buys 3 tables and 12 chairs for Rs. 2,400. He sells the tables at a profit
20% and chairs at a profit of 10% and makes a total profit of Rs. 300. At what

price did he buy one table?
(A) Rs. 100
(B) Rs. 200
(C) Rs. 300
(D) Rs. 250
Answer: (B) Rs. 200

@Hed] 3 GMREHET OHMID 12 BTDHSTE0 QIHHMEBHET Y &HlUIalmenm
¢h. 2,400 &@ 6UMTRIGHMDTE. CLEMNYSHEMET 20% VMUGH MG BHTMHSTEO
AmEm&EHemET 10% QeomUGHADHGL MG CUTH €hH. 300 EVMLILDTS
QUMISMTEsT 61601160 (I G R emUL 6THG M6V &G
GUMRIE U LILIT60T?

(A) €. 100
(B) €Mh. 200
(C) €m. 300
(D) €. 250
elemL_: (B) €lh. 200
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89. The difference between the C.I and S.I for a sum for two years at 8% rate of

interest p.a. is Rs.40. What is the sum?

(A) Rs. 2,000

(B) Rs. 4,000

(C) Rs. 5,500

(D) Rs. 6,250

Answer: (D) Rs. 6,250

@M QHTmEEG Qranlh WETHSESS 8% alllg oI55S Fal B
QL IGSG H6oll QUL IlgHGD 2 6o QINGUITFD €. 40 6160760, SHG
QBTemS WITG|?

(A) €. 2,000

(B) €. 4,000

(C) €. 5,500

(D) €. 6,250

elemL: (D) €. 6,250

90. The marked price of an article is 20% more than its cost price. A discount of 10%is given.
After discount the price is Rs. 518.40 What is the cost price?

(A) 480
(B) 576
(C) 596
(D) 598
Answer: (A) 480

@@ Cum@pmener 9L&& alsmevsenl el GMNHFH QIeneVIITETH 20%

SIGGID. 10% &enEpLly SIUUGSHME. HeT@pLasH@G LeoT  GlLm(merflesr
M6V €I5.518.40, 6T60TI6L HLIGILIMT(HET6TT L 5& 661IL 6T63T60T?

50 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

(A) 480
(B) 576
(C) 596
(D) 598
Ql60L_: (A) 480

91. If a car travels at 60 km per hours for 2 hours and then at the speed of 80 km per hour for 4
hours. What is the average speed?

(A) 68 kmph

(B) 70 kmph

(C) 72.1 kmph

(D) 73.3 kmph

Answer: (D) 73.3 kmph

@@ &M WM& 60 S CousshdHed 2 et CHIWL LWENEEME).
MNeoT 4 wewN CHISHDOG 80 &S Cousshidled CFLEME 6TeNleL SiHG
&milett Fom&fl GeusLd 6T6oT60T?

(A) 68 &.LO

(B8) 70 &.LO

(C) 72.1 &.L5

(D) 73.3 &.L6

ellemL: (D) 73.3 &.I0

92. Find the least number exactly divisible by 12, 15, 20 and 27.
(A) 504

(B) 270

(C) 108

(D) 540

Answer: (D) 540
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12, 15, 20 WOMID 27 HPEHW EuHaTL UGSUBL &F Ml
6T6O0T6MI6U0TS  SIT6V01S?

(A) 504

(B) 270

(C) 108

(D) 540

elémL_: (D) 540

93. The area of a circular field is 138600 m?. Find the cost of fencing it at the rate of Rs. 4.40 per
per metre.

(A) Rs. 5800

(B) Rs. 5808

(C) Rs. 4808

(D) Rs. 6808

Answer: (B) Rs. 5808

@b UL L LomesT euuwledledr upLuere] 138600 &5 &&I7 WL (5@ €.
440 €MD OIHHHEL, SmG GCeouedl SMLLULSMSTE  ClgFeveailsnen
&60015&)(h &7

(A) €. 5800
(B) €Mh. 5808
(C) €IF. 4808
(D) €IF. 6808

elemL_: (B) €. 5808

94. Gold is 19 times as heavy as water and copper is 9 times as heavy as water. In what ratio
should these mixed to get an alloy of 15 times as heavy as water?

(A)1:1
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(B)2:3

C)1:2

(D)3:2

Answer: (D) 3:2

SRS  Hewoewiengl GuUTeL 19  IOLKIEG SH6ULTSED, SHMLOILD
Gevureniengll GUTeL 9 LOLKIE SHEUITSHED 2 6Tengl. Heveuuienrl GLImev
15 OLMIEG &Seromel 2 Geomssd  Sevsmeueml Qum,  @emeusern
61615 HHL HEV&HSL UL Geuevor(hLD?

(B) 2 : 3
C) 1:2
(D) 3 : 2

el6mL_: (D) 3 : 2

95. A bird flies 200 metres west and then turns right and flies 100 meters. Next it turns east and
flies 300 meters. Again it turns and flies south for 100 meters. How far is the bird from
starting point?

(A) 100 m

(B) 150 m

(C)124m

(D) 116 m

Answer: (A) 100 m

@@ umeney CGMHE SHengulled 200 WBLLT  UDHF 6U6LGE LMLD
S Goed 100 WLLY unsEHMG. 66 HN&HES Semguied
S 300 B umhg MNeor HGBLA QAHHG Heoguiled 100 WBLLI)
UDSSMG. Spuwu  UerafluNedl(pha ULMemeU  eTedeueTe]  GMTHSI6L
2 66N G)?

(A) 100 LS
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(B) 150 LS
() 124 LS
(D) 116 LB

ellemL: (A) 100 LS

96. The Ratio of Circumference to the diameter of a circles is approximately

(A)8:11

(B)11:8

(C)7:22

(D)22:7

Answer: (D) 22:7

@b QLL &6 &OHmeralm@L 56T L SHMHGD 2 6enar Q&g LD
(CHMPTLILDTE)

(A) 8 : 11

Ql60L_: (D) 22 : 7
97.1fa:b=2:3,b:c=5:7andcis42 whatisa="?
(A) 12

(B) 20

(C) 21

(D) 22

Answer: (B) 20

a:b=2:3,b:c=5:7LD[°Dg)_|Lbcu_‘n68TLD§)]I'JL|426T6Uﬂ6\°)a=?
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adlémL_: (B) 20

98. What is next?

2@+ @!+2,1+2@, .....
A?2@!+

(B)+?!@

Oo+?7@!

DO)+@+!

Answer: (C)+?7 @ !

SIS QUIHEUS 66016012
2@+ @'+ 2+ 2@, ...
A ? @ ! +

B)+?! @

€ +7?7 @ !

D)+ @ +!

QeL: (C) + ? @ !

99. If ANGLE is written as CPING then PLANE must be written as
(A) RNCGP

(B) RNCPG

(C) RNCQG

(D) RCNPG

Answer: (B) RNCPG

55 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 100 | 2018

ANGLE 6T60TLIg)| CPING 6T60T 6T(LPSLILILL ML PLANE 6T60TLIENSG 6T6UEUTM)
61(p% Geustur(HLd

(A) RNCGP
(B) RNCPG
(C) RNCQG
(D) RCNPG

adlémL_: (B) RNCPG

100. The Volume of a Hollow cylinder of length h, inner radius r and outer radius R is equal to
(A) th (R —r)

(B) 7th (R? - r?)

(C) th (R® - r¥)

(D) zzh (R* — %)

Answer: (B) 7th (R* - 1?)

@@ 2 6meilmm 2 (pemenuilest Herd h, Geuel WOMID 2 6TeUL L MG
R DOMID r 6T6IMTEL 2 (TheMETUNETT &H6uT {66 6T60T60T?

(A) mh (R - 1)

(B) mh (R? - )

(C) mh R® - 1)

(D) inh (R* - ¥)

aleL: (B) nh (R? - )

101. Two persons A and B are engaged in a work. A can do a piece of work in 12 days and B
can do the same work in 20 days. They work together for 3 days and then A goes away. In
how many days will B finish the work?

(A) 9
(B) 10
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(C) 12
(D) 17

Answer: (C) 12

A LOMID B AW @@heu@bd ¢@h Gousmevemil QFWIK6TMeT]. A, 12
BIL&eMeL  oeuCGealemevemil  (PlgHS  (WIgUjd. B Seoreu] CH
GCeauemevemil 20 BTL&aT6L (Plg&HS& (PlgUD. A, B Q@eupld CEJh 3
BTL&6m Geuenew Q&G 6T A Sleuen] el (B QFeTmieill_L My eTeileL
18 (Wemem Ceusnevemll B 616 G606 BT &6MeL (LpLg LILIM?

Ql6tL: (C) 12

102. Find the missing alphabets in the given series:

13ca, 216fab, 25eb, 237  , 46fd, ....

(A) gee

(B) gcb

(C) gdb

(D) fcb

Answer: (B) gcb

QeTESsUUL(Heten QHMLfled CaMgLl L QL 5L QH&ES Gevetorig L
6T(LPSBHISSH6N WITem6?

13ca, 216fab, 25eb, 237__, 46fd, ...
(A) gee

(B) gcb
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(C) gdb
(D) fcb
edlémL_: (B) gcb

103. The numbers are in the ratio 15 : 11. Their HCF is 13, which of the following pairs can
they be?

(A) 194, 143

(B) 195, 142

(C) 195, 143

(D) 196, 144

Answer: (C) 195, 143

@eior(y 6T6TI&HET 15:11 616N NHGHHHEL 2 eiterner. Seummlett LS. QL.6u
13 ¢16afleL G QBT(HSHULL (B6TaneneusHefled Siemed 6THIUTE @\(h&H5E
Fo.(hLD?

(A) 194, 143

(B) 195, 142

(C) 195, 143

(D) 196, 144

Ql6oL: (C) 195, 143

. e x2-3x-10 x%2-2x+4
104. Slmp“fy X2 _x—-20 X x3+8
(A) x+4

1
B

1
©)
(D) x+2

Answer: (B) x—;
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x%2-3x-10 « x2-2x+4

x2-x-20 x3+8

105 &(H5GS:

(A) x + 4

x+2
(D) x + 2

1
X+ 4

al6vL: (B)

106. The monthly income of a person is Rs. 5,000. If his income is increased by 30% then
what is his monthly income?

(A) Rs. 7,000
(B) Rs. 5,500
(C) Rs. 3,500
(D) Rs. 6,500
Answer: (D) Rs. 6,500

€(HEU(HENLU! DTG 6U(HLOMEIID €h. 5,000 HEU(HEML LI DTG 6M(HLOMEITLD
30% 2 WD GUMTE LOMEH 6UHLOMEILD 6T6oT6uT6UTE @\(Ih&HELD?

(A) €. 7,000
(B) €Ih. 5,500
(C) €m. 3,500
(D) €h. 6,500
elemL: (D) €. 6,500

107.  The value of (-5) (4) (2) (5) ©)
(A) 10
(B) 15
(€) 12
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(D)0

Answer: (B) 15

(5) (4) (2 () €) 6 LG WGl?
(A) 10

(B) 15

elemL_: (B) 15

108. If4x + 5y =83 and j—; == theny—x=?
(A) 4

(B) 3

(C)6

(D)2

Answer: (A) 4

4x+5y=83LD[:f)g)_|Lbz—;=%6T6'6ﬂ6i)y-x=?

Q6L (A) 4

109. If the length of a rectangle is doubled and the breadth is tripled then which of the
following is true?

(A) Perimeter is multiplied by 5

(B) Perimeter is multiplied byg
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(C) Area is multiplied by =
(D) Area is multiplied by 6

Answer: (D) Area is multiplied by 6

@@ CFcucussHlen HeasHmse Q@ WLMSTHED HHLHME CLPETM)
DL RISTHELD SH,&H6UTTeL, SLNSHEHUILeUMMIET 618 &ijl?

(A) &MOMETE] 5 LOL MRISTEGLD

() &HMETQ] 2 LOL HISTGLD

(C) UPLILOTEY ~ e misngLs

(D) UFULeTe) 6 LOLRISTGLD

elemL_: (D) UFLILeT6] 6 LOL RISTGLD

110. If a right circular cylinder cone have the same radius and same height then the ratio of
volume of cylinder to volume of cone is

(A)3:1

(B)1:3

C)5:2

M) 1:m

Answer: (A)3:1

@M CprallL CaesmasHmGw, @@ ChJaLL FalbLHGWL GCr
S, @Cr 2.wp eTermmeL CHTETHSHI60T &H6oT SHOTEUSHGLD FalDLI6TT
60T 66U HGLD Q6L Cul 2 6o eN&HGLD?

(A) 3 : 1
B) 1:3
© 32
D) 1 :n
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elleml: (A) 3 : 1
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